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prohibited material is found with any candidate, strict action will be taken against him/her as per rules.
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arning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession, F.LR will

be lodged against him/her in the Police Station and he/she would be liable to be prosecuted under State Public Examination (Measures for

Preventions of Unfair Means in Recruitment) Act. 2022 and Amendment Act 2023. The act has provisions of imprisonment of 10 years to
life and fine up to T 10 crore. Board may also debar him/her permanently from all future examinations conducted by the Board.
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Case control study estimates:
(A) Only odd’s ratio ~-
(C) Relative risk and attributable risk

(E) Question not attempted ,
(A) et frsm SIR
(C) wiE Sifew dur ST Siifes

(B) ergaid ued

Which is NOT a feature of septic tank?

(A) Used for personal and small public use.

(B) Water tight compartment

(C) Used where water supply is adequate.

(D) Used where public sewage system is adequate.
(E) Question not attempted '

e A ¥ @ @ Fwgsifes 2n # i @ g
(A) mammm%mmﬁmm%l
(B) SIEos B i _
(C)wﬂwmq%a@%ﬁﬁmﬁmw%s I
(D) e G A ST Jome o aef # Swde § @ wwn ¥
(E) orgaia usd E R

Complete involution of the uterus to its pre pregnancy stage of deliverin

(B) Odd’s ratio and attributable risk
(D) Only relative risk

(B) fww arurd qon S SRgH
(D) e HTE Eilcul e

g the child takes

place by:
(A) 5 weeks (B) 6 weeks
(C) 7 weeks (D) 8 weeks

(E) Question not attel pted ‘
m%mnﬁmmaﬁmtﬁmﬁwwﬁﬁmﬁwﬁm%?
(A) 5 a<E . (B) 6 wwe =
(C) 7 u® (D) 8 §xiE

(B) srgaia 997

On doing abdominal examination of a pregnant woman, you found uterus to be at 20
weeks but by dates (LMP) it is 24 weeks. What is the most probable reason for such
discrepancy: , :
(A) Wrong dates
(C) Multiple pregnancies

" (E) Question not attempted

(B) Hydramnios
(D) Gestational hypertension

qmnﬁaﬁrq%w%ﬁmaaﬁaﬁmwmzowmwmﬁﬁ%W(LMP)'

»)- 21COH-1] 2
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S  Match List I with List II.

LfSt g{&?%‘Nutrient) List II (Bio-Chemical Test)

a. I.  Prothrombin time

b. oteg . II.  Serum retinof ' ,

Z. ;flltartf}fl K | II. Thyroid - bx%img pre-albumin

. iacin, | - IV. N-methyl ni¢otinamide in uri
. . yl nicotinamide in urine

T 1 & g2 11 & v gafwa SR L -
. Wl T 1 (- )

a. fyafm A I vheifes emm

b. W& L A e

:l ﬁzﬁj? K L. gtes - IEkT d-uegfe

_ - IV. g3 % N-Prare Freifemmss
-Choose thj{é}}jcorrect answer from the options given below: )
M R g Pt ¥ ¥ WE R B A

| (A) a-l, ?ﬁIV, c-I, d-II (B) a-II, b-1I1, c-I, d-IV
(C) a-1V, b-11, c-I11, d-I. (D) a-I, b-1, c-ﬁ; d-1v

(E) Question not attempted / START 997 ™
List ij:(Health Indicators) List 1T (Sul;i%ldicator)
a. Mor:éigty 1f1dif:ators I Health—Adju’%%éd Life Expectancy
b. M.ortai;ﬁ.lty indicators II.  Population -é%ﬁ;ed ratio
c. Dlsagglw rates. . III. Age - Speciﬁé death rates
d. Hea th, care delivery indicators IV. Incidence and Prevalence
Th 1B g I & wd gifea dfm) '
T fiww o) T (Sv-v)
a. FAAUEHTE I e S e
b. - 0. ¥5-(bed) U
c. I11. TG T
d. A1 IV. U qm s
Choose thg correct answer from the options given below:
W R o Rehedl F @ W€ S w0 T B
A) a-Ié%ébJH, c-I1, d-I (B) a-III, b-IV, col, d-II
(©) alLbL, eI, d-IV | (D) a-L, b-II, c-1V, d-III
(E) Question not attempted / ST T -
- 21COH-1] 3
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Match List I w1th Llst II.

List I 5 List II
a. ~ Macula lutea ' , I.  Rods
b.  Photopic visidn II. Fovea
c.  Scotopic vision: III. Cones
d. Rhodopsin » IV. Visual Purple
SCIREIRCCIRISAE gﬁfa‘cr By
g o I
a. fﬁrgm wqfear ‘ I =W
b. Wt g . s
c. RIS g 1. &FE
4 ke | IV, frer T

" Choose the correct answer from the options given below:

$9 fg o Rremedt ¥ ¥ 9 SN B A BN

(A) a-IV, b-II1, c-I, d-II (B) a-IIl, b-1, c-II, d-IV
(C) a-Il, b-I11, ¢, d-IV (D) a-1V, b-1I, c-1II, d-1

(E) Question not attempted / ST T2

Of the followmg statement(s), which is/are correct?
1. Incidence is the number of new cases of disease occurrlng in a defined populatlon

during a spe(nﬁed time.
2.  Prevalence is the number of old cases ex1stmg at a given point of time.
3.  Prevalence depends upon the incidence and duration of illness.
Choose the most approprlate answer from the options given below:
(A) 1 only (B) 2 only
(C) 1 and 2 only (D) 1 and 3 only
(E) Question not attempted o
frffea & ¥ @ YT BF WA FRT
. fdy Praffa srden ¥, we R S ¥ o o 9 A B Y AR S Een WO
HEARI &1
2. Wmmw%m%mwmaﬁmaﬁmm%l
3. eedr, O qET AT B erary 9T FeR @l T
ﬁ%mmﬁwfr@rﬂaﬁmwmwaﬁm

(A) e 1. B) Faw 2
(C) %aw 1 3T 2 (D)%ﬁerarlaﬂ'(&
(E) m’gﬁf’{‘dgﬁ

Under Janani Suraksha Yojna (J SY) assistance given to mother, in low performance
states, in urban area is:

Wﬁrg{aﬂa‘rﬂm(JSY)%\awﬁﬁ ot forearees Tl % ey &5 H HIaT @l & 9N el gerEd
T Bl B

(A) T 1050

(C) %1400

(E) Question not attempted / ST T

(B) Z 1000
(D) T 2000

) 21COH-1 ] | 4 [ Contd...

10 Match List 1 with List I1.

List I (Screening) List 11 (Techmque used)

a.  Breast cancer I.  Pap test
b.  Cervical cancer II. - Sigmoidoscopy
- ¢. - Cholorectal cancer o I11. Mammogr'aphy
~d.  Lung cancer IV. Low dose helical CT
@Iaﬁqﬁﬂ@ra‘amﬁaﬁﬁim : |
T 1 (s o I (SUErT W AT i)
a. wH '2‘511‘{ . . L 9 qheo ,
b.  wafgwa () e . II.  oremEmRee (ﬁnﬁrs%ﬁ"@ﬁ@r)
c. BT HET | 1. S
d. WwS H HEX IV, o W % 9 el (@eea) @

Choose. the correct answer from the options given below:
A fRu Ty femedt ¥ ¥ @ SO @ Tee S
(A) a-l, b-II1, c-1V, d-11 ~ B) a-lI, b-1V, c-I, d-11I
(©) alV, bl ¢, d-T (D) a-I11, b1, c-IL, d-IV
(E) Question not attempted / S Tg ’

11 Meza Dam has been constructed on:
(A) Parvati River (B) Kbhari River
(C) Kothari River D) Mansi River
(E) Question not attempted ‘
AT Sy e 99X 9w Wy &7
(A) e @ - (B) @l T
(C) el =& (D) ==l J&r
(E) ergafta g

12 Identify the statements which are true with respect to peridontal diseases:
1. Presence of a cleft lip '
2. Bleeding or swollen gums :
3. Formation of pockets and loosenmg of teeth
4.  Oro-dental trauma
Choose the correct answer from the options given below:
(A) 1 and 4 only (B) 2 and 3 only
(C) 1,2 and 3 only (D) 2,3 and 4 only
(E) Question not attempted '
feTea AT ¥ gefua g wue gsah—
1. &3 & ®er B
2. @A 9T AgET g gY TGS
3. &I (Jihed) BT I ST Hra‘r T GIell BT
4.  SETd smEE
i fRu Ty fomedt ¥ @ wE SOT @1 T ait:
(A) - Faw 1 30T 4 (B) »aw 2 & 3
(C) »aa 1,283 (D) e 2, 3 8fT 4
(BE) srgafa usH |

) 21COH-1 | 5
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13 | The best way to represent the following data is :

QOut of 100 factory workers - 18 are smokers and 82 are non-smokers.
| (B) Histogram™:
(D) Bar chart

(A) Line diagram

©) Pleiéhart

(E) Qag;stlon not attempted
Pt offel B T FT B s ff ¥
Py Y, 3 rd @Y AT 100 Bl § ¥ 18 qamw%%am 82 qgmqaa;r%r%t

(A) et = ®) femm
(C) - (D) e
(B) Sraid usd ‘

14 For pos%f%partum TUCD insertion all are true, except :
(A) Inmatlve started to promote spacing method. |
(B) Il}@D insertion is done only at district hospitals. ; -
© Cg;l; 380A is inserted. : i
(D) TS ‘address unmet need of family planning.

(E) ngstion not attempted Ny
m*ﬁéqﬁré‘r Prvm ¥ frwa ¥, s ¥ srfafE, wﬁ‘fﬁ%?%
(A) W%ﬁ:ﬁmmﬁ%mmwm% z%
(B) aﬁﬁ!ﬂé’r e o fren srgarel ¥ & Rean S
(C) CuT 380A 1 frdym far s | M

(D) WW#WW&W&WW%?@WW%:
(E).a%ﬁausw g

TS ;
15 All of iﬁe followmg are teratogens leading to congenita ot
fa B) Radlatlons

(D) Thahdomf&@

normalities, except one:

©) T@ﬁ?céo consumption

(E) instlon not attempted o
ﬁwﬁ?@ﬁﬁﬁ@%aﬁﬁaﬁmwm%ﬁﬁ%aﬁﬁmmﬂsﬁ%
(4) ® PRt o

(©) aggzv& &1 (D) s

(E) mﬁa T

s«-«w

e 21COH-11] 6
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16 You went to a wedding, a known rélativ‘e of yours sudderily collapsed and became
unconscious. What is the first step you would do as a health care professional?

(A) Call for help - Emergency number

(B) Open airway

(C) Check for responsiveness

(D) Check for breath

(E) Question not attempted
mwﬁaﬁwﬁ%ﬁﬂ%wmwﬁﬁmmlﬁﬂéw%l@wﬁ%
wq F SUG! YUH B T BN 7

(A) FTEEET T 9T BIE Bl deaar & o gw%?r
(B) ®ar ot % fou AT wawd &

(C) wiafrmsiimar & S &4

(D) T@ F §ig B

(BE) orana usq

17  All are the characteristics of health indicators, except
(A) Validity (B) Reliability""
(C) Affordability (D) Fea31b111ty
(E) Question not attempted

g ¥ 9 %@%ﬁaﬁﬂﬁwmiﬁﬁm'!%l
(A) 3w B) faEetaa -
(C) wmea (D) =EEEET .

(B) orai@ 9ed '

18 Which is NOT true for tetany?
(A) Wild contractions in muscles
(B) Age related disorder with increased bone mass -
(C) Rapid spasms in muscles - ‘
(D) Low Ca™ in body fluid
(E) Question not attempted
frefafea & @ @9 @1 N % g g & ¥ 7
(A) TR F o e
(B) oy w<el Rl & WY € % T9HF @B geAl
(©) ufym & e U= ,
(D) sl 5@ o Ca™t &l 'cm“x

(B) ergaia we
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19 Match List I with List II.
List I (Dustbin) - List II (Types of Wastes)
a. Yellow Dustbln | I.  Scalpels ‘
b. & I II. Ampoules ‘
c. III. Expired cytotoxi %rugs
d. IV. Catheters a
Sel
T 10 awféw THR)
a. I. oo &l Eﬂ/ﬁmﬁﬁf”
b. . T
c. M. erfemsifera ﬁéra;rﬁx@r (Trgereiirms) Tand
d. IV. ST 9Terest (%e)'a)
Choose the correctranswer from the options given below: iy
I g U e A 9 gEX B 9E B
~(A) al, b-l, c- Iﬁi d-11 (B) a-1V, b-1I1, c-II,
(C) a-L, b-II, c-IIE; (D) a-IL, b1V, ¢,
(E) Question no '
20 All are the complications of postnatal period, except:
(A) Puerperal seggls (B) Thrombophlebiti
(C) Secondary hg%morrhage (D) Pre eclampsia ‘
(E) Questlon not, attempted
siffar G gaa ugErg B Bl R g
(B) ursifrafafed
(D) W weigran
21 Which of the foll@wing is the indicator of prevalance of contraceptive practice in a
community? i : ’
(A) Couple Protection Rate (CPR)
(B) Effective Couple Protection Rate (ECPR)
(C) Net Reprod&éfion Rate (NRR)
(D) Gross Repr
(E) Question not-attempted
ﬁmﬁﬁaﬁwﬁnﬁﬁﬁ%u@%ﬁaﬁmmww%?
(A) ™ grar s (CPR)
- (B) wwraser grageen 3¢ (ECPR)
(C) Frw () WM T (NRR)
(D) . THT TS T |
(B) orai@ueT
) 21COH-1 ] 8 , [ Contd...

22" Which of the following is NOT the cause of dental cavities (tooth decay)?

(A) High intake: of sugars
(C) Inadequate :
(E) Questionr
frefefas 9 ¥ @n mz@ﬁ%ﬁﬁﬁ%aﬁrmaﬁ%?
(A) 9T B S WM BT S "~ (B) wiREE ¥ emﬁ ST
(©) WWW@WW (D) QW@?H@&W(W)WWT
(E) arafa 9se

-(B) Inadequate exﬁi‘?’sure to ﬂuoride

23  Where is Rajasthan Hindi Granth Academy located?
(A) Jodhpur a (B) Kota"
(C) Jaipur - (D) Alwar
(E) Question not attempted '
AT ® &Y 3 et wet Rua ¥ 7
(A) siegy (B) it
(C) sEgT D) &I
(E) srar@ usA
24 Lathynsm du excessive consumption of Khesari dal car;j)e prevented by which
method? ’
" (A) Heating -+ (B) Soaking
(C) Filteration: (D) Parboiling
(E) Question mt attempted
e w & AEh waﬁ@sﬁmﬁrﬁeﬁﬁmm@rﬁwﬁaﬁqa,ammemw
A =T (B) Byimm
(©) s @ (D) sisT FEgA
(E) eguiaw
25 JUD (Intrauterine Contraceptive Device) is ideally inserted:
(A) Within 10 days of beginning of menstruation
(B) After 20 days of menstruation
(C) After 17 days of menstruation
(D) After 15 days of menstruation
(E) Question ngt attempted
SR A [ Bigrifes fEaea) & smasia: & Fefe
(A) Wm%w@f 10 R & d=
(B) Fgema & 20 A & ugaq
(C) =gema & 17 it & ugamg
(D) =gare & 15 & & d9eaw
(E) ergafid we,
> 21COH-1 ] 9 " [ Contd...




26 Basic laboratory investigations done for pregnant women are all, except
(A) Blood Grouping and Rh Typing (BG) (B) Liver Function Test (LFT)
(C) Random Blood;§ilucose (RBS) (D) VDRL / HIV testing
(E) Question not attempted
ﬂﬁﬂ%ﬁﬁ%ﬁ@%mﬁfuﬁn&mﬁ%ﬂﬁﬁﬁmﬁféﬁﬁ% -
(A) & s aur Rl (BG) (B) upa & witg (LFT) ;
(C) =9 @ 9% (RBS) (D) NEANRTH. [ TE.emE.AlL g

(B) orgafd ued

27 Identify the statements whlch are correct with respect to absorption in human digestive

system:
1. In large intestine some minerals, drugs and water are absorbed.

2. Absorption of certain drugs and alcohol takes place by the mucosa in mouth and

lower side of tongue.
3.  Absorption of water, simple sugars and alcohol takes place in the stomach.

4. Glucose, lactose and glycogen are absorbed by small intestine.
Choose the most appropriate answer from the options given below:
(A) 1, 2 and 3 only (B) 1 and 3 only

(C) 2,3 and 4 only =~ (D) 2 and 4 only

(E) Question not attempted
ﬁwﬁf@ﬁﬁﬁw—wmﬁwsﬁw%wﬁﬁaﬁmﬁmﬁ

1. == oid ¥ po g, ofviel ot @ sEeia B ¥
wﬁsﬁw%ﬁwm%ﬁﬂﬁmm@mﬁﬁmmmmﬁwm
Tl
3. S, |ER swa%uaﬂTQ‘vaﬁwmaasﬁw TS H BT §

4. TEw, AFEE ST TR T @I B S T e ¥

I w1y freedl ¥ ¥ G99 ITGR IAX BT T DI

(A) waw 1,2 T 3. (B) %aw 1 3R 3

(C) %aw 2, 3 3T 4 (D) e 2 9T 4

®E) AR 99T

28 Axial skeleton is comprised of:

“(A) Skull and vertebral column
(B) Vertebral column, ribs and sternum
(C) Skull, vertebral column, ribs and sternum
(D) Skull, vertebral column and ribs.
(E) Question not attempted
AT BB T BT ©

C(A) HUM ST 7648
(B) ees, uatwal, SURY
(C) U, Wods, yafmal iR SURY
(D) ®UH, HEES aﬁT Tgferat

(B) orgaia ued
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29 Xerophthalmia is seen due to:

(A) Congenital anomaly

(C) Vitamin D deﬁc&@cy

(E) Question not attempted

- SRt fee @ ﬁ“ o &7

(A) v oy O

(C) freifm D @i aﬁrﬁf

(BE) oafaust "%;;

30 ‘World Homeopathy Day” is celebrated every year on:

(B) Vitamin A deficiency
(D) Iodine deficiency

(B) i@ A & &
(D) JEN B B

(A) 11th April Ty B) 5th April
(C) 8M April =« (D) 10t April
(E) Question not attenipted
fasa B faw ofd o w9 A= s d e
(A) 11 i@ B) 5w
(C) 8 @@ (D) 10 sr¥a
(B) sgmi@uss = . ‘
31 Ider:tlf;y the strategies adopted by the National Populauon Stablhzatlon Fungiwfor population -
contro

1. Prerna strategy
2. ASHA scheme
3. National Helpline-,
4. Santushti strategy.::
- Choose the most appr@pmate answer from the options given below :
(A) 2,3 and 4 only i (B) 1 and 2 only
(C) 3 and 4 only ¥ (D) 1, 3 and 4 only
(E) Question not attempted
mmmmmmm%mmm@ﬁmﬁ:

2. 39 Gl
3. U™ gEEdar ge
4. 9y A

(A) Faw 2, 3 @i 4
(C) ¥aw 3 a4 O
(B)  orgafd e

32 Under ESI Act, 1948 @%ate government share of expenditure on medlcafﬁ:eare is :
s;gra;rs‘ sifafere, 194@?5\%7?3 WRe 3@ T @Y § o0 qhR B b Wt

(B)WI@TZ
(D) &aw 1, 3 iR 4

(A) 178 (B) 3/ 8
©) 5/8 D) 78
(E) Question not atternpted / SFART W o~
> ot ’ u [ Contd...




33 anch of the followmg statement should NOT be used while counselling an HIV patient?

34

35

- 21COH-1 | ‘ 12

- (C) a-l, b-1V, c-1II, d-1

(A) Tell about your HIV status to your sexual partner
(B) Do not donate blood. _

(C) Do not share needles and syringes.

(D) Its okay to skip your medicines.

(E) Question not attempted : o
Hlvwﬁaﬁwsféﬁ%mﬁﬂﬁ@rﬁwwwwmaﬁrmw?

(A mm%wﬁﬁmHIVW%maﬁwaml

(B) e ¥ B
C) @ &l qorr DR BT Bl @ T 7 WY
gD)) mww%gﬁmmm%l

(B) ST 9eq

Identify the statement/s which is/are NOT true for placenta?

1.  Placenta is endocrine in nature.

2. Placenta is formed by the inner cell mass.

3.  Placental hormones help in lactation after parturition.

4, Placenta is connected to the embryo through an umbilical cord.
Choose the most appropriate answer from the options given below:
(A) 2 only (B) 1 and 3 only

(C) 2 and 3 only (D) 4 only

(E) Questlon not attempted

frfeiaa & 9 ﬁwmﬁéwwm(@m)%wﬁﬁwa@%/%?

o S 4

2. U AT BIERT |

3. m%wa{wg?mﬁw T ¥ Hag wed ¥
4. SO YO W THAW BT JS T

(A) Haw 2 (B) haw iaﬁ?3
(C) aw 2 ot 3 (D) e 4
(B) orgaia ued '

Match List I with List II.
List I (Cause)

‘ ~ - List IT (Occupational Dlsease)
Coal dust ' L.

a Lung cancer
b Asbestos - II. Siderosis
c. Iron ' ‘ III. Anthracosis
d. Aromatic amines - IV. Bladder cancer
I 11 @r wdr gafwa @ik
o gﬁ ?ﬁ T I (e wetaa )
a.  BIEFA B %gn | | I %% & hEY
b, TEEM - II. wEsahE
c. TIE dE/eTH , 11 gy
d. amashd TiE IV. T B HAT

Choose the correct answer from the options given below:

I g o femedl § ¥ HE.IWL B I BN

(A) a-ll, b-1, c-1I, d-IV (B) a-1V, b-I11, c-1, d-1I
(D) a-L, b-II, ¢-II, d-IV

(E) Question not attempted AR IRGREE]

36 Match List I with List II.

List I (Hormone) List IT (Target)

a.  Gonadotrophins I.  Gall bladder:
b.  Aldosterone II.. Liver cells -
c. Glucagon =~ - 1. Ovary

‘ Sﬁjﬁ Cﬁholecystoé[q;'}l)_::rgr i aﬁﬁﬂq IV. Renal tubules

1% gt I |
W) o 1 (siea)

a. I Trnes o 9
b. TEERN , II. @pq ®ifiesd
C. TYBIM S 1. sfe@™ -
d. wAREBERE IV. T8 & e

Choose the correct answer from the options given below:
e feg T faeedl # ¥ @ SO @1 wEE
(A) a-1V, b-11I, c-II, d-1 B) a-1, b-II, c-1V, d-II1
(C) a-Il, b- IV ¢-11, d-1 D) a—II b-1, c-III, d-IV
(E) Question not attempted, / AT U :

37 Match List I with List IL.

List I (Essential Fatty acids) List II (Dletary Source)

a.  Linoleic acid I. Meat

b. Arachidonic acid ~ - II. Fish oil

¢. Linolenic acid ITI. Safflower oil

d.  Eicosapentaenoic acid IV. Soyabean oil
';ﬁﬁlaﬁxﬁrﬂﬁvﬁgﬁ(mﬁml ,

e I (stmasaes T ) T 1 (smerde €m)

a. fafae e I. =9

b. uulesife . 9%« &0 o

c. Tt e A 1. HY¥ &1 ad

d. STEHENRAES I IV. S &1 ad

Choose the correct answer from the options given below:

Y T T Rl ¥ ¥ 99 SR @ wem SR |
(A) a1V, b-II, ¢, d-111 (B) a-I, b-1V, c-III, d-I
(C)  a-Il, b-1, c-IV, d-11 D) a-l, b-11, ¢-II1, d-IV
(E) Question not attempted / SR W9 ‘

38 Arrange the stages of Demographic Cycle in correct sequence.
1. Early expanding 2. Low stationary
3. Declining 4 -~ 4.  Late expandmg
5. High stationary

m%wﬁm@ﬁwwﬁm&mﬁi

1. yrehsyes gacorshierar 2. = Ry

3. frmEe ‘ 4, féﬁfi%mma‘haar
5. o= Reutar

Choose the correct answer from the options given below

ﬁ%ﬁqwmﬁrﬁﬁaﬁmwaﬂam

@A) 5.1,4,2,3 ®B) 1.3.2,5. 4
(C) 2.5.1.4. 3 (D) 1.2.5. 3. 4
(E) Questlon not attempted / Gl'jﬂﬁﬁ EER]

- 21COH-1] . 13
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40

41

) 21COH-1] 14

Whlch IUD is approved for use, for 10 years?

(A) Cu-T380A “° (B) Cu-T 200 :

(C) Multi load Cu%SO (D) Multi load Cu-375
(E) Question not df@empted _—
frafafea & ¥ &9 o g, 103ﬁwmﬂm%mﬁh§a%%§;
(A) Cu-T 380 A s%j (B) Cu-T 200 o)
(C) wRES Cu-25‘®* (D) s&@E Cu-375 W
B) sgefass o 9

Eating a balanced, healthy dlet by a pregnant woman can help pre\%ét which of the

following?  ©% |

1.  Too much W(ﬁﬁn gain o

2. Anaemia and ‘infections in mother ,

3. Normal birth of the baby

4.  Gestational d1etes

Choose the correct %ﬁswer from the options given below : '
(B) 1 and 3 only -

(D) 2 and 3 only -

(C) 1,2 and 4 only

(E) Ques‘uon not attempted ¢
| WWWWWWWW%W@HﬁQMWWﬁWW

P

»:Azwm e}& %e Yodd Ml e

¥7 "))
. ClaRGIE e
(A) e 2, 3 34, (B)%aalaﬁ’(3~ o
(©) % 1.2 4K 4 (D) ¥aw 2 &% 3 v

(B) @i 9ev 5

With respect to them@evalence of hypertension by age and sex, Whlch 1s/are correct?
1. Age 70 yearsiand over, Sex - M - 56%, F-49% , :

.%“ (‘,

2
3
4

2. Age 60-69 years, Sex - M - 43%, F-60% ‘ f‘f
3.  Age 55-59 years, Sex - M - 38%, F-40% : ’ .
Choose the most approprlate answer from the options given below ~o
(A) 1only wg (B) 2 only g
(C) 1 and 2 only (D) 2 and 3 only %:5

(E) Question not attempted
mamm%wwmﬁam%wﬁmaﬁmmaﬁﬁw%%ﬁ?
1. amg- 70 a¥ o oifre, - geu-56%, aRemd—49%
2. omg— 60-69 ady RiT- gEu-43%, AlAd-60%
3. amg- 55-59 zﬁw@ - Jeu—38%, Afead-40%
I R T Reedl #Y qeR SUgE SO & 99T BT
' (B) @& 2
(D) %aw 2 afT 3

[ Contd.

42 Which of the following is NOT related to Coronary Artery Disease?

43

44

fmfafea o 4 @ @ seg iftgmgf

(A) Atherosclerosis

(B) Deposits of calcium, fat and cholesterol in the vessels. supplymg blood to heart
(C) Narrowing of arterlal lumen

(D) Congestion of lungs

(E) Question not attempted
ﬁwﬁfmﬁ%aﬁﬁmﬁﬂﬂﬁmﬂwﬁwﬁaaﬁ%?
(A) PR

(B) &9 @l W& @ SMYfd BT arel anferell  hfveam, awaﬁ'(a?lﬁgraaﬂm

Y

- (C) - uwl sremlimTe BT HeHT B "

(D) Wwel § dgaa
(E) orgafa usd

Which is NOT a high risk pregnancy?

(A) Primigravid woman over 30 years

(B) Anaemia

(C) Twin pregnancy

(D) Previous vaginal delivery

(E) Question not attempted

mﬁawr TR
(A) 303&%aﬁma@ﬁuﬁmﬂﬁwm
(B) eawdar (T

(C) gt T

(D) wd ot e

(B) orgaia weT

First aid, in case of snake bite include all, except: o

(A) Reassure patient - as 70% of all snakebites are from non-venomous spemes
(B) Search of local popular snake charmer

(C) Immobilize the limb

- (D) Transport the patient to medical fac:lhty

45

- 21COH-1] | | 15

(E) Question not attempted
?ﬁ?ﬂéﬁﬁﬂ;ﬁgw%mﬁﬂﬁlﬁﬁﬁﬁwwﬂﬁ%?

A SEISETIEH mﬂ%ﬁaﬁaﬁa&ﬁﬁﬁ%%w BRI

(B) @ uig wUY @ g ! e

- (C) E9WrE ST Bl MAEE BT

(D) T w1 fafeer giaer dw= q agamn
(E) orgafa uss

The “tagline” of “Annapurna Rasoi Yojna” which-is started in Rajasthan is :
(A) Kitchen for all, food for all (B) Clean food, good health

(C) Food for all, respect for all D) Food for all, good health for all
(E) Question not attempted ~ *-

Wﬁg@ﬂ%ﬂé“%@ﬁ@ézﬁw”w“wm”%

(A) wa TEE, w9 Mg diew - (B) wrws WieH, aresT @Rem
(C) wd frg wivm, e fog w=m (D) "% fq e, ge% g sresr w@me
(B) srgaia v - ’

[ Contd...
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World Health Organisation (W.H.O.) has defined adolescent as a person in the age group

(B) 10-24 &
(D) 12-19 8

47 Match List I with List IL.

lest I (Methods of intervention

or eye health care)

a. «~Primary eye care : L
b. econdary eye care | I Vitamin A prophylaxis
c. ertiary eye care / I1I. Xerophthahma
d. WSpe(:lﬁc programmes Iv. I
T L el 11 & W g Ak |
I (= @re Y@am & fig
qY F AqAER)
. e A @ I
b. s = d@wm 11
c. o A e 111
d. e s Iv. i m&m

Chq&e the correct answer from the optlons glven be
< fag T fadedl § ¥ WE ST BN TG Db

(A eIl bl el d-TV (B) a-IIL, b-I, c-IV, d-II
©) é—IV b-I, c-III, d-II (D) a-L, b-lIL, c-II, d-IV

(B) Questlon not attempted / Gﬁ‘ﬂﬁa T

»» 21COH-1] | 16 | ‘ [ Contd...

48 Preventive measures to decrease the chances of congenital ma,lformahon in a population

ARl &1 TR, SR (5) 3‘3‘"3'@[31? srﬁ'(aavr)

W(,ﬁmaw%@wﬁ%&ﬁa

(E) Questlon not attempted / STANT 99

49 Promotive safety measures to avoid acmdents are:
(A) Wear S@ﬁt belts

(D) Imposition of speed limits

(E) Question not attempted

gEeATel ¥ gE % T Wided g Sue ©

(A) bz I geTT

(B) #few W @Y ared FEl aar
(©) Ssﬁﬁm%mama%manamgwﬁm
(D) vﬁr@maﬁﬁa’rﬁﬁm

50 With respect.to nutritive value of Millets (valués per 100 gm); which statement/s is/are

correct? ,
1. Bajra has 11.6 g of protein.
2. Jowar has 72.6 g of carbohydrates.

3. Ragi hgg 344 mg of calcium.

(A) 3 only

(C) 1 and 2 only

(E) Questm;:; not attempted
firie (SHY, Wmﬁ)%ﬁwm@mqﬁl%m}ﬁ”
: 11.6 99 W& Biar %1

(B) 1, 2 and 3&,‘,
(D) 2 and 3 only

ﬁ%@m%m@rﬁ%wﬁwg&q SR H T HAC

(A) Faa 3. (B) 1,283
gg FHad 18T 2 (D) %ew 2 8T 3
mﬂﬁi?ﬁ RG]
3- 21COH-1 | 4 1 ' [ Contd...
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51 A 2 years old baby is brought to you with complaints of loose stools for 3 days.
On examination baby is restless and irritable. Skin pinch goes back slowly and has
sunken eyes. What will you do? . ~
(A) Diagnose the baby having some dehydration and start ORS.

(B) Refer the patient to higher centre. ,

(C)  Baby has no dehydration, no treatment required.

(D) Baby has some dehydration, start intravenous fluids.

(E) Question not attempted : o ;
qes?r‘eruﬁammwﬁ?ﬁﬁ%qﬁﬁaﬁ?ﬁﬁwéﬁaﬁrmwwﬁamww
é%am%aww:wﬁga%éﬁweﬁﬁﬁmmﬁ%amﬁ@ww%:
(A) o= ¥ B Freieiew &1 frem 3 g .AT.TE. (ORS) &1 s H¥)|

(B) Wt ®1 Iew b ¥ forw Fiffs wEn

(C) == & Frotefaeor =& ¥, Reelt SUam & emavamar w8 ¥

D) == ¥ v feiee T, -l av e 3 wrew s
(B)  ergaia wew - |

52 Match List T with List IL

List I (Disease) List H (Mode of Transmission)

a.  Meningococcal meningitis ‘I Bite of infected culex mosquito
b.  Viral Hepatitis-A II. Bite of infected flea

¢.  Lymphatic filariasis HI. Faecal-oral route

d. Plague IV. Droplet infection

T 1 @ g 11 & v gife Ak |

' w1 (m) T I (o & fafy)

a.  AfFiMema ARl L Gohia R 78T & B

b. 9Rw Rvenfw u II. defa freg a1 wrean

c. fudhfew wzalaRm . we—8 gEeedl oo

d. @ IV. fig®or debeor -

Choose the correct answer from the options given below:

i e T Rl § 9w s @ gw Hivi | .
(A) a-l, b-1V, c-III, d-II (B) a-IV, b-111, c-I, d-1I .
(C) a-1V, b-III, c-1I, d-I (D) a-Il, b-1, c-1V, d-II1
(E) Question not attempted / srfaika ws

83 A 32 weeks pregnant woman complaints of swollen feet, headache and blurred vision. On
examination she has gained 3 kg weight in one week. What is the most probable reason?
(A) Normal pregnancy (B) Gestational diabetes
(C) Pre-eclampsia (D) Twin pregnancy
(E) Question not attempted ' ’
Ut 32 WlE B e wfea, A @ gor, d qUr e fra @ R o 1w §

Uh I A 3 T AT qo wren o ¥ sae weite S s g L
(A) 9T THfaen. (B) Tiafy wede o
(C) W-Twrmimar (D) weat mf
(B) orafa ue -
- ) 21COH-1 ] | 18 ++[ Contd...

lect the ob"ectives of antenatal care from the following : . ‘
> ?e ecPrornotej, protect and maintain the health of the woman during pregnancy.

2.  To ensure atleast twenty visits to gynaecologist by the pregnant women.
3. To detect high'risk pregnancy and give them special attention.
4. To remove anXiety and fear associated with fiehvel.'y. .
Choose the most appropriate answer from the options given below :
(A) 3 and 4 only (B) 1 and 2 cznly ,
(C) 2,3 and 4 ;g . (D) 1, 3 and 4 only
E Juestion not Attempte . |
%ﬁ%ﬁawﬁa%@m%@sﬁwwaﬁ: |
ol ¥ wieer % WReT w1 Wi, gl it t@ard S|

é T TR ET T R & @ @ @ 20 Prie geed S ghled s
3. orafe Sifgwgel m B vEEEET qur 57 WX RS s S | »
4 m%ﬁ%ﬁ%mamwﬁq{ms |
AR O] IR B TIT BTG ©
e faw o el WA EEECH) e 2
(D) %aw 1, 3 o 4

> List I (Scfeening method)

I. = Mammography
II. * Chest X-ray =
II. PSA

IV. PAP smear

T 01 (e @ faft)
I.  H9ETH
1. By & XX
II.. qiug.u.
IV. 99 &R’

(B) a-IIL, b-II, -, d-TV
(D) a-IV, b-1L, c-IIL, d-I

(E) Question not faﬁ‘ﬁigmpted / Sran e

| 56 Age related disoréi“@i characterised by decreased bone mass and increased chances of

fracture is:
(A) Gout
(C) Osteoporosis: ¥ q _ -
E uestion not attempted ; o o '
éa)%%ﬁmﬁwwmmwwﬁm%ﬁwﬁmtﬁamww%

(B) Muscular dystrophy
(D) Arthritis' .

A) TR (B) it ffem
EC? CIISRIRIRURE] (D) anaisfes |
(B) egai@ust - - ,
' ¢ "é .‘ . [ Contd eso
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58

59

60

61

- (C) Folic acid

“All of the following are modifiable risk factors of cardiovascular dlseases except
(A) High blood pressure (B) Genetic factors

(C) Obesity (D) Stress

(E) Question not attempted

% fIReT o= g, w%aﬁww(w@w)fnﬁﬁaqﬁaﬁaa‘rﬁavm%l

(A) = T (B) engdlie Tew
(C) rer (D) @
(E) orgafa usw

The structural and functional unit of skeletal muscle is known as:
(A) Sarcomere (B) Micromere.

(C) Macromere- (D) Nephron

(E) Question not attempted

dheprel Ul bl AT SR BT ShTs hed

(A)  w@RER - (B) msa?rﬁm
(C) HeprftrET (D) =siq

(B) orgata uss

All are the danger signs during ‘labour’, except D

(A) Prolapse of cord

(B) Excessive ’oleedmg ' :

(C) Sluggish pain after rupture of membranes
(D) Systolic blood pressure is over 110 mmHg

(E) = Question not attempted

yag % au e g & iR vl T & gue ¥
(A) <=9 &1 o Rager .

(B) oratys aarg

(C) Tl &% e & 915 9 €8 &l &1

D) ﬁ{@ﬁﬁﬁmﬁmlwmm}lg@@ﬁﬁﬁ@m

(BE) oraia s

Testing kit, for early detecuon of pregnancy, avaﬂable at subcentres is called
(A) Nischay (B) Nikshay

(C) M. P Card (D) MCP card

(E) Question not attempted ‘
Wﬁaﬁawmﬁa@uﬁwﬁmﬁraﬁﬁw&% e@rwmﬁ%?

(A TsEg B) frEsm
(C) ™. 0. @ - D) Q. e
(B) orgafid us= | <

Micronutrient that can reduce the chance of neural tube defect is:
(A) Vitamin K (B) Vitamin D

‘ (D) Vitamin By,

(E) Question not attempted '
Wa@ﬁﬂﬁamﬁwmqu&wﬁw%

(A) foerit K (B) faefE D
e 21CGH-1] 20 | [ Contd...
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64

65

) 21COH-1 ] 21

In an area with fluoride rich water, the defluoridation of water is an example of level

of prevention? A
(A) Primary (B) Secondary
(C) Tertiary (D) Primordial

(E) Question not attempted

AW%WﬁwwmmWhﬁwwﬁ—mﬁwmﬂWwwﬁHw

@ E?

(A) wafes gB) [ECIRE
(C) g D) R
(BE) orgafta usH

Counterfeit medicines are:

1. Medicines which are mislabelled.

2. Medicines which have correct ingredients.

3. There is no active ingredient in the medicine.

4.  There is wrong ingredient in the medicine.

5.  The medicine is in sufficient quantity.

Choose the most appropriate answer from the options given below:
(A) 1,2 and 5 : B) 2,3,4and 5

(C) 1,4 and 5 D) 1, 3 and 4

(E) Questlon not attempted ‘

el il wr ¥ ?

1. oiwfy @ X @a ded @ el

2. iy e @@l woes ¥

3. ofufy ¥ @i wheg dues o %)

4. oiufy ¥ ®g TEG GELH T

5. ol agﬁaa eI

T w1 feedl ¥ ¥ 999 SUGHRT AT B GAT DI

(A) 1,285 . B) 2,3,435
(© 1,48 5 (D) 1,384

(B) o usa
Rashtriya Bal Swasthya Karyakram (RBSK) aiins at screening of 4 D’s, except:

(A) Defects at birth (B) Deficiencies .
(C) Diabetes (D) Developmental delays

(E) Question not attempted 4 -
T W @ren HEms (RBSK) @7 9399 oK ol ¥ ¥ % omiied wwdy st

(waif+r) Efg\;ﬂ Tl - e

(A) 99 & 99 ihm B) ?fl?ﬂq

(C) =yhE (D) fawe & %m'ér
(E) ergaia 997

Which of the following is NOT true about Measles?

(A) High secondary rate (B) Only one strain causes infection

(C) Not infectious in pro-dromal stage (D) Infection confers life long immunity

(E) Question not attempted : :
ﬁ%ﬁwmweﬁwﬁwﬁ%? |

(A)B“v:rwezrﬁma’r (B)Wmﬁﬁﬁwmmﬁ%x

(C)ﬂwr@amwﬁwvﬁsrﬁﬂ‘a%l (D)Wﬁﬂ?ﬁauﬁiwmm%x

(B) o usd

[ Contd...
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| (E) Questi

67

68

) 21COH-1]

(C) iy sEd, emufed a1 SIERTOE T arl AT 8l

(A) 1,2,3,4,5
(C) 1,2,3%and 5 only

A substandard medical product can be identified by all, except:
(A) Examining the packaging for condition, spelling mistakes
(B) Checking the manufacture and expiry dates

© Medlctﬁe should not be discoloured, degraded or should ha
(D) If pharm

nusual smell
1acist has given, no need to check
1 not attempted

WWWW@W%%@W%WWWQWWWW%
(A) Wmmw{aﬁﬁamwﬁﬁm
(B) Twres ‘an oiae famie @1 e

(D), =iy ehwf %W(W)m%ﬁéﬁﬁmﬁmsmﬂ@%

q*mrs‘r AR Bl AT WFB;“-Q? 3. s
‘ D) 3

5. The main drawback of hosp1tal data is that it is only the “t1p of iceberg”.

Choose the correct answer from the options given below:

(B) 1, 2 and 3 only

(D) 1, 2 and 5 only

(E) Quest;@fi not attempted

WW%W%WﬁWﬁ%ﬁ@rmmﬁﬁ%?

1. . 10 &t % & SEeEn B S ¥

2. gfuest gelieseor ol (SRS) wamﬂﬁ%mmﬁswﬁw%!

3. oTeRId iwsl % R R I B sigEe T wewqe | §

4. mamaﬂmwwmaﬁmé%amwméﬁ%w?@aﬁmﬁ@m
T AR

5. @émﬁg@w%%%wm“@@%m

- ff ¥ e IAT BT GG DI

(B) ®aw 1, 2 &R 3

(D) ¥aw 1, 2 3 5

& vaaﬁ'@r ¥l

22 : [ Contd...

69 The first foetai movements is felt by the mother during

70

71

e ZICOH—I] 23

of gestational period?
(B) 12-16 weeks
(D) 18-22 weeks

(A) 10-12 weeks

(C) '16-18 weeks

(E) Question not attempted
B B fope STafy & HIGT B YUT B USAT GOAT WY B T § 7
(A) 10-12 w<rE B) 12-16 g<® _

(C) 16-18 g<s D) 18-22 wwrE

(E) orgaf@ usa

Identify the statements, which are true for “Cancer”.

1. Is a group of diseases characterised by an abnormal growth of cells.
2.  The most common cancer diagnosed is breast cancer.

3. The most common cause of death due to cancer is liver cancer.

4. The global burden of cancer was around 20 million in 2020.

5.  Cancer is the sixth leading cause of death.

Choose the correct answer from the options given below:

(A) 1,2 and 4 only (B) 1,2, 4 and 5 only

(C) 1,3 and 5 only (D) 1, 2, 3 and 4 only

(E) Ques‘uon not attempted

frefaiad o @ 39 HAA1 @ A &L S HE’ & fag w7 B

1. W1 & o & e st atata ghe safar €

2. WWW&%W@WWWW%!

3. I%d @1 HEY waltus g & HRE ol

4. aﬁzozeﬁﬁﬁwmwzoﬁwmmm

5. TG W B3 JEI B HE T

©) Wl 3 &R 5
®) aqaﬁ?ma:{

Which of the following is involved in the regulatlon of resplratlonV

(A) Respiratory rhythm centre in medulla, pneumotaxic centre in pons, chemosensitive
area adjacent to the rhythm centre and receptors associated with aortic arch and
carotid artery.

(B) Oxygen is the only regulation of respiratory rhythm

(C) Receptors associated with aortic arch and carotid artery.

(D) Chemosensitive area adjacent to the rhythm centre and receptors associated with
aortic arch and carotid artery.

(E) Question not attempted

= 9 @ o w vaed & e ¥ i e

(A) oo ¥ 99T @9 &g, 9 H %%, @9 Hg W G WEA doeAsd &7 ofiX
HETEHAT T ST W &9 & FSia el :

(B) smuq @9 % faftrawe & FHaw olfede & & Teayul i ¥

(C) =t T SR Wer ga § ddfia umr

(D) m#&%wﬂmﬁmaﬁm&ﬁa%ﬂeﬁtw&wﬁwaﬂtmaﬂ:ﬁ@w&mm@

(E) ergfrﬁ-cr g9
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72 The four main components of IMNCI (Integrated Management of Neonatal and Childhood
Illness) strategy are:.

1. Improving car@fmanagement skills of health care staff

2. Improving health of disabled children

3. Improving fam ly and community health practlees

4.  Coordination w gth other departments ,
5. Improving overc@ll health system

31TE TH T 91 o8 (T oY S99 &l ST &1 Tohia UeeM) B
I  TEReT SEE FHEE % @A TS B ¥ gew
3. uitEr iR urgiie w@mey RAIN

4. 3 fWEN % @YU G99

5. 99U @R g

Choose the correc

W g T e ¥

A) 1,3,4,5

(C) 2.3.4,5
(E) Question not attempted / ST T

73  Scatter diagram is drawn to study:
(A) Trend of a variable over a period of time
(B) Frequency of ©¢currence of events
(C) Mean and median values of given data
(D) Relationship beétween two given variables
(E) Question not attempted
Whet STUM fhadh e & foi e <iar & 7
(A) Tod sty &) By =3 @ vt
(B) wea % wfed “@‘-‘f ARSI ECIEG |
(C) Ry T =7eT @ A Qe HEwr B A

(D) R T & =1 A ey

(B) oguia et . ;
- 74 All are warmng signs of cancer, except
(A) Change in size“of lump

(C) A wart or a mole

(E) Question not attempted ‘
frrefafaa & 9, w%aﬁlﬁaﬁ e g HET % Eal & fagw o w@da
(A) TS/ % SHTC ¥ giiea (B) & &l @@
(C) TH a a1 T HeEl/Hd (D) 591 @O & g9 g

(B) orar@ usa
75 Improvement of human species or race by selective breeding is called as:
it (B) Ergonomics

(A) FEugenics
(D) Euthenics

(B) Hoarseness of voice
(D) Unexplained weight 1

(C) Euthanasia
(E) Question not
T ST T T TS B G Hedwl &

(A) goiFe (B) erqiife
(C) g&afyra (D) g
(E) srgafid us+

»» 21COH-1] , 24 [ Contd...
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76 A one year old baby is brought to you by her mother with complaints of cough and cold.

There is no chest wheezing. Respiratory rate is 38 / min. There is no chest indrawing.

What is your diagnosis?
(A) No umonia (B) Pneumonia
(C) Severe pneumonia (D) Healthy Chlld”l

(E) Que tfon not attempted

m>wﬁ%ﬁﬁ

(B) qq‘rhm T
(C) oo = & (D) s @ %
(E) orgafa usA

77 How many world heritage sites are there in RajasthanV
- s K e fage erdeT wuw ¥
A 7 ’
() 9
(E) Question not attempted / SgART 997

B) 11
(D) 12

78 Which of .the fellowing can be used as post coital contrace
1.  Intrauterine device insertion within 5 days.
2. OCRinthln 72 Hrs.

(B) 2and3 only
(D) 1,2and3

2. 724 ¥ A
3. 72 4e | HEwhEs 10 mg w1 4T
%%@Wﬁ%a@mwwwm

-

(B) e 2 3R 3
(D) 1,233

79  Which ofathe following is the injectable contraceptive?
(A) Chhaya (B) ANTRA
(C) DMPA (D) NET-EN
on not attempted

|1 St adE TR B 7

(B) wuq.d.emu
(©) S (D) TIEAZ.

(B) m@aﬁﬁ CER|

3 21COH—1] 25
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Identify the statements which are true with respect to the function of a nephron.
1.  Approximately 1500 ml - 1600 ml of blood is filtered by the kidneys per minute.
2. Proximal Convoluted Tubule absorbs nearly 70-80 percent of electrolytes and water.
3. Nearly all the filtered essential nutrients are absorbed by the Distal Convoluted
: Tubule.
4.  Collecting ducts allow passage of smaﬂ amounts of urea into medullary 1nterst1t1um
to keep up osmolarity.
Choose the correct answer from the options given below:
(A) 1and3 B) 2,3 and 4
(C) 1,2 and 3 (D) 2 and 4
(E) Question not attempted
ﬁwﬁwﬁtﬁﬁﬁﬁﬁwmﬁw%m%waﬁw% o TEEIt)
g BT T 1500 ml - 1600 ml 7o 9fa fre Fradfea (Reeey) e 31
Ww&aqﬁmwquﬁrmsﬁmaﬂ?mmmsmm%;
[ Hafaa At g @ wll P sfert dve a6 srasier g ¥
aﬂFﬂﬁﬁ'& (T B FG W@ % [ Gl Afaerd g @t 9iSl 9 @I, wgadd
el o uif@ & &t orHfa St )
o fiw o fowedl § 9 98 I @ 9N BT

B

(A) 133 (B) 2,3 &t 4
© 1,2 3 (D) 2 @it 4
(B) erpafa usd |

In respect of Hypertension, which statement is/are correct?

1. Non-modifiable risk factors are - age, sex, genetic factors, ethnicity.

2. Modifiable risk factors are - obesity, salt intake, saturated fat, dietary fibre, stress.
3. Hypertension is an iceberg disease.

Choose the most appropriate answer from the options given below:

(A) 1 only (B) 1 and 2 only

(C) 1,2 and 3 (D) 2 only

B Questlon not attempted o
Sog A & e § frefafed & 4 @ @l 3R 7

1. <ifew & sufEd #rw ¥ - wgﬁwex@arﬁéwmm?ﬁw |

2. <" & afacd & & — AT, 9% B S AT B 9o, mw STETR 9, =T
3. T (&9 U6 AEEET O R
:ﬁ%ﬁqmmaﬁﬁéwﬁwgaﬁmmw%@

(A) Faw 1 (B) waw 1 iR 2
(C) 1,233 (D) Haw 2
(B) orgafa uss

Which statement is correct with respect to Pellagra?

(A) It occurs due to pyrldoxme deficiency.(B) Occurs with diet chleﬂy on maize.
(C) Night blindness is important feature. (D) Causes h1gh risk of heart attack.
(E) Question not attempted

YT ¥ Helud wEl Y9 HE W g -
(A) Tz iR @ % % Hreo g B
(C) rdT e wEEqel @& ¥l

(B) orana us7

(B) g@'mé,mmwﬁm%t
(D) FwEmEm & aﬁmﬁﬁﬁngm@m%a

'[ Contd...
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83 Which of the following is/are true aboui dengue fever?
1. Most common Arboviral infection.

3. Can be both epldemlc and endemic.
4.  Can survive in ambient temperature.
Choose the m st appropriate answer from the optlons given below
(A) 1only (B) 1 and 2 only
© 1,3 and only (D) 2, 3 and 4 only
ion not attempted

Y frfafag o @ o w9 R

2. fusd 2-3 Tv@ A WG ¥ TE@ GO BT & @ B
3. Hemr{l qur et A, a9 8 w9 X B gepar )
a%vﬁ'&sﬁammﬂweﬁﬁaw%l

(B).Wlaﬂ‘{Z
(D) e 2, 3 3T 4

(A) 125
(C) 69
(E) Questior

(B) 138
(D) 100
ot attempted / STTANT U

85 Preventive measures to reduce the chance of cancer, include:
1. Regular physical activity
Avoidance of tobacco smoking R
Diet 1nc;kud1ng fresh fruits and Vegetables ‘

Immunization against HPV

2
3
4
5.
Wmﬁwﬁmm%mwmﬁﬂﬁqﬁﬂ%

2
© 1,2,3.4,5 ; (D) 3, 4,
(E) Questicsiﬁff not attempted / SFTANRT U

27

2. Incidences of dengue are decreasing in India in the last 2-3 decades.

1. ww&mmwéwaﬁww&mgm(a@a@w W%: ,

84 Estlmate the nﬁmber of pregnanmes ofa subcentre in a village with bn'th rate of 25 per

[ Contd...




86

87

88

89

) 21COH-1] | | 28

Select the true statements about yellow fever.

1. Transmitted by dedes.

2. Incubation period is 10-14 days.

3. It is caused by flavivirus.

4. Incidence is increased by humidity.

Choose the most appropriate answer from the options glven below:
(A) 1 and 2 only (B) 3 and 4 only

(C) 1, 2 and 3 only (D) 1, 3 and 4 only
E) Questlon not attempted ;
da wx % fawa ¥ Pre ¥ @ w s iR

1.  Tefw g gl e gl

2. SR orEfy 10-14 R ek ¥

3. U % WiEEE™ &R S 8l

4, emdar g 9 ¥ ghy gy ¥

s g Tg el W ¥ U9 SUgE SAX dl UAT i

(A) aw 1 8T 2 (B) e 3 T 4
(C) Haw 1,2 M3 D) ‘Eb'aal,S 3T 4
(B) orgaia usd -

In Intrauterine device, Cu-T 380 A, ‘A’ stands for:

(A)  Active (B) Antigen

(C) Ag-Silver (D) Antibody

(E) Question not attempted
Cu-T 380 A, sfa-aisell girr & A’ @1 otef & —

(A) e B) W
(©) Ag-Rrea (D) e (aiaidy)
(B) organa 9ed - |

In a village with pOpulatlon of 5000, 50 people get affected by a dlsease and 10 of the

- affected died. What is case fatality rate?

Sooomwmmﬁsomﬁaﬁéﬁﬂﬁw%aﬁ?ﬁﬁ%fmﬁmmr«ﬁvﬁaﬁ
T B S ¥ AR & faww ¥ g g X o ¥ 7

(A) 10% (B) 2%

(C) 0.5% (D) 20%

(E) Question not attempted / aﬂﬁﬁ_d LER]

Mﬂk transmits all, except

(A) Q fever (B) Typhoid fever
(C) Brucellosis (D) Endemic typhus
(E) Question not attempted

g, Prafifea ¥ @ % ofified org @l &1 e & B
(A) Qs (B) igwige weT

(©) sfuwiea (D) e <Tghd

(B) orgaitd usd |
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- 90 Standardlzauon of food by the Directorate of Marketlng and Inspecﬁon Govt. of India

91

92

93

is:
(A) Codex Alimentarius
(C) The Agmark standards
(E) Question not attempted
WW%W@W&W%’%&W@WW%WW%?
(A) wide uffama (B) di.u%.u. #™H ,
(C) wmh 7S (D) 9d™ AFs A

(BE) orgafa ued » .

Essential drug list include all, except:

(A) Medicines that satisfy priority health needs of a population

(B) Medicines used in national health programmes

(C) Medicines for rare diseases

(D) Medicines used for emerging and re- emerglng infections

(E) Question not attempted -

JMaYTd ANy A ¥ Ftaa ¥ 9, T & ofdie, @y i ¥
(A) %Wﬁﬁﬁﬁwﬁaﬁmwaﬁs&m@aﬁ@m%
(B) UEm e HrEhAr ¥ uged efrfaf

(C) T AW &g sirfer

(D) I—9R BW A GHA 3g aﬁwﬁm

(B) - PFA standards

(B) organa uss

All of the following statements about Centchroman are true, except -
(A) Non steroidal, non-hormonal pill

(B) Marketed under the name of Saheli

(©) Developed by Central Drug Research Institute, Lucknow

(D) Available in the market @ T 5 per tablet

(E) Question not attempted
@rzaﬁm(Centchroman)éserﬁﬁﬁrﬂﬁrﬁqaﬁ@rqasﬁaaﬁiﬁaﬁwﬁw% -
(A) ERigsdN, TEFEH Mt €

(B) ‘w&ell’ W ¥ ¥ # el T

(C) F=ha sy ergeem dwm, mmﬁmﬁﬁaﬁl

(D) SR ¥ T 5 ufy il &) 7 93 Iuesy ¥

(B) orafa usA

Which of the following primordial prevention strategies is NOT for CHD?
(A) Take healthy diet including macronutrients and micronutrients

(B) Regular physical activity

(C) Prevention of tobacco use

(D) Management of hypertension and diabetes

(B) Question not attempted

CHD % fq frefufiaa & & @i & Qeper @ S seeiRr a8 3 7
(A) Wméﬁmﬁﬁwma@amqmtﬁwsmﬁﬁ
B) Tt sriftes wrd

(C) derg & IuEm & Fe

(D) mmawamtrgﬁeuwﬁ ‘

(E) aﬁﬁﬁa H
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(D) Bureau of Indian Standards
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Which statement/s is/are correct for Prudent Diet as per WHO?

1. Dietary fat limited to 15-30% of total daily intake.

2.  Salt intake should be reduced, to an average of not more than 5g per day.
3.  Protein should account for approximately 10-15% of daily: intake.
Choose the most appropriate answer from the options given below:
(A) 1,2 and 3 : (B) 1 and 2 only

(C) 2 and 3 only (D) 2 only
(E) Question not attempted ' RS
%SHWW(WHO)%WWWQWH%%@WWW%/%?
1. omerdy aar, kiR feg 9@ @@ e ¥ 15-30% q@ i e

2 TEW HY @ HIAT WY o uRifkd @ sfed Sg @ e 7 2

3. wRRE weur fhT o g Wi ® @ 10-15% SiE g el

%ﬁ{qmﬁwﬁrﬁwﬁeﬂwmmwm

(A) 1,213 (B) Faw 1 &2
(C) Faw 2 o 3 (D) e 2
(B) orgafdust

Which of the following is NOT the characteristic of Malignar Hyperten51on‘7
(A) Systolic BP > 180 mmHg and Diastolic > 110 mmHg
(B) Multi organ damage

(C) Good response to therapy '
(D) Onset of hypertension in young or older than 50 yrs  {
(E) Questlon not attempted

Preffad & & B @ &%WWWSH)WW@%?
(A) 9HTT Tegga >180 mmHg &t syt > 110 mgHg
(B) 9%

©) ﬁ:ﬁmr % gl eredt wfaforan

(D) Wﬁsoﬁﬁmm%mﬁmw
(E) orgafa we |
Under Vande Mataram Scheme, the enrolled doctor can be pr@@lded with the following
item by the respective district medical officer :

(A) Tron and Folic acid (B) BP apparatu
(C) Weighing machine (D) Glucometer

E) Questxon not attempted

(A) Wamtﬁr‘ﬁﬁqiﬁg
(C) oo™ aew @l a9

(B) oraia ued

Vital layer in slow - sand filter is of :
(A) Alum - Hoe

(C) Schmutzdecke

(E) Question not attempted

wre—are], Wi (filter) @ @ wee fhE &7

(B) Sand bed
(D) Under dramag:

& B e
‘ HH AU,
(B) oanRd v ‘

T [.;:COntd.,.

98

Match the following for STI / RTI Klts

List I . List IT ‘
a.  Kitl : I.  White for Gemtal ulcer
b. Ktt 2 : - II.  Yellow for lower abdominal pain
Z %1: 2 RII green for vaginitis
i . ray for uret i
STI / RTI %2 @1 gafera &¢ | o ; hralf dlSChargél
, '(fh I i A 'qz'ff II P
Ca. Ree-l ' I. e % ueg s foe g%
b, fEe-2 . fr=1 st ad & T der
c. ®e3 L dfweher % frgew
d. fre-6 Iv. @amﬁngﬁmm%aa%rqaé—&

Choose the correct answer from the options given below:

- A Ru T e § 9 g€ ST @1 99 B

99

| 100
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(A) a-I, b-I1, c-III, d-IV
(C) a-1V, b-IIl, c-1I, d-1I
(E) Question not atte'mpted / AR 99

(B) a-l b- III c-I, d-IV
(D) a-1V, b-1, c-1I, d-11I

Which of the following is NOT the purpose of conducting Mahila Swasthya Sangh
meetings every week by Anganwadi workers in a village?

(A) Enhance interpersonal communication

(B) Discuss breastfeeding

(C) Discuss general household problems

(D) Discuss anaemia :

(E) Question not attempted
mﬁﬁmmm@mmmwﬁtﬁ%ﬁweﬁwwﬁ%?
(A) urrEmfis SUTer ST

(B) wuW % fawg ¥ =@l &

(C) W™= g gHEsll IX adi B

(D) TEeaar 9T TEt BT Sl

(B)  rgai w7

Warning signals of poor mental health are, all except
(A) Always worrying

(B) Afraid without real cause

(C) Chronic pain in abdomen

(D) Continually dislike to be in company of people

(E) Question not attempted '

HAAN HHD Wﬁ@t@m%ﬁmﬁamm%aﬁﬁaﬁww%l
(A) wia Rife e o

(B) & ol arafas SR & ST

(C) 9= % gumr (chronic) &= -

(D) E%aa%ﬁﬁﬁa#@%aﬁwm

(E) ergafa ueq
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